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Higher Tier 
 

Question Accept Mark 

1 (a) F 1 

1 (b) C 1 

1 (c) D 1 

1(d) B 1 

(4 marks) 
 

Question Accept Mark 

2 B D F H (in any order) 4 

(4 marks) 
 

Question Accept Mark 

3 (a) F 1 

3 (b) S 1 

3 (c) F 1 

3 (d) A 1 

3 (e) A 1 

3 (f) S 1 

(6 marks) 
 

Question Accept Mark 

4 (a) N 1 

4 (b) P 1 

4 (c) P/N 1 

4 (d) N 1 

(4 marks) 
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Question Accept Mark 

5 (a) B 1 

5 (b) C 1 

5 (c) D 1 

5 (d) E 1 

(4 marks) 
 

Question Accept Mark 

6 (a) F 1 

6 (b) ? 1 

6 (c) T 1 

6 (d) ? 1 

6 (e) F 1 

6 (f) F 1 

(6 marks) 
 

Question Accept Mark 

7 (a) 2 B 1 

7 (b) 3 H 1 

7 (c) 4 G 1 

7 (d) 5 E 1 

7 (e) 6 A 1 

(5 marks) 
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Question Accept Mark 

8 (a) her father is headteacher of her school (1). 
boys don’t ask her out (1). 
 

2 

8 (b) she doesn’t understand 
she doesn’t take her seriously 
she makes fun of her (2 from 3) 

2 

8 (c) don’t worry (1). 
try to meet boys who are not from her school (1). 
 

2 

8 (d) she will be going to a new school (1) 
she will be asked out (1) 
 

2 

(8 marks) 
 

Question Accept Mark 

9 (a) she is white and he is black/Indian/coloured/Asian (1). 
she is French but her boyfriend is Indian (1). 
people give them awful looks/people are racist 
towards them (1). (2 from 3) 

2 

9 (b) they/she could hide. 
she could finish with him. 
should/could ignore others 
should/could get on with her life (2 from 4) 

2 

(4 marks) 




